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This paper contains fifty (50) multiple-choice questions. Each question carries
two (2) marks. Attempt All the questions

D2l uauslii A (0) oigfselly sl 8. eds uan A(R) e 8.

ol Uil GdR @vil, =

When marginal product of capital is zero, the symmetry of the Law of Variable
Proportions shows that the marginal product of labour will be :

(A) maximum (B) less than zero

(C) equal to zero D) infinite

38l AHid Geuwte wu1d Yeu eld, R YRad-lld sguidnl Rgia-l 1l
euld & 3 and Aid Gewed :

(A)  Heud : (B) LU sl iy
(€C) Y seR D) v

S9.

A nuisance good is defined as a good whose marginal utility is :
(A) Zero (B) Negative

(C) Positive (D) Infinite

Gugdll axd-ll vl WS A agedl AlHid gleam

A Y B) e Bud

<) f+ D) i

slu 8.

An inferior good has income effect that is :

(A) Positive (B) Zero

(C) Negative (D) Infinite
Gddl sau-dl axg, U 2as AR

(A) 4+t B) YU

€) B [Faq D) it

sln 8
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4, On a straight line downward sloping demand curve, elasticity of demand :

(A) is infinite (B) is zero
(C) is unity (D) varies from zero to infinity
A ds eadl uiodl Al v Gu il aus :
(A) Vi 8id ® B) 4 &lu ®
(C) As ¢lu 8 M) Yl v Yl Quldd wy 8
5. The difference between Marshallian and Hicksian demand curves is the :
(A) Substitution effect (B) Income effect
(C) Price effect (D) None of these
weddlud 2 [Rsuud HidL asl a2l dsldd :
A) AW AR (B) 2U4s AR
€ [Bud 2«2 D) 2uHidl siS <R
0.
6. When Average Cost (AC) is falling Marginal Cost (MC) is :
(A) Also falling (B) Constant
(C) Below the AC (D) Negative
gl AUN WA (AC) Hedl eid 8 U AHid WA :
(A) UL "2dl B) Rz
© AC Al D) 2 Buad
Slu 8,
7. Edgeworth contract curve is a locus of points where :

(A) MRSX_  for the two consumers A and B are equal
(B) MRSX, y for A is greater than MRSX‘ g for B
(C) MRS,  for A is less than MRSX_ y for B
(D) None of the above
[MRS, , = Marginal Rates of Substitution between X and Y]
R siwgse as dldl Bigua 8 i -
(A) MRS, 6 Ales 2 A 6 2 A
(B) 3uss -l MRS, , 3uss o 4l MRS, |, $di awl
(C) A5 3 -t MRS, , Ales o i MRS, , i st
D) Guxnidl s -l
Sy 9,
MRS, , = X 21 Y a2l »ao-i AHid €3]

Eco.—I1 4
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10.

On a rectangular hyperbola demand curve, the total expenditure on the
commodity :

(A) increases with an increase in its price

(B) decreases with an increase in its price

(C) remains the same with an increase or a decrease in its price

(D) decreases with a decrease in its price

dotsielly 2lQaay (rectangular hyperbola) Hidl dsHi axg Gur-l ga wd :
@)  Bud aadidl 08 48 &

®) [Bud aadidl w8 w2 o

(C) [Bud-l ag-ue wad oealdl ol

®) Bud wedidl wd w2 8

Keynesian Multiplier varies directly with :

(A) Tax rate (B) Marginal propensity to consume
(C) Marginal propensity to import (D) Autonomous export

Sflue s -

(A)  5JARUAL €2 @B) A Guetidl qawt

(€) Abid 2Lt a4 D) wud FRuld

A ua Ad Qald wy 9.

If the consumption function is C = 50 + 0.75 Y, then the Average propensity

to save function shall be :

50
A 0.25 i B) 0.75
0.25 50
50 - — 0.25 - —
©) % D) =
Guefiol 8w A C = 50 + 0.75 Y, St dl A3 sAd qae [@Qdy -
50
(A) 0.25 + 52 (B) 0.75
0.25 50
50 — —— 0.95 - —
(C) b v D) 7

U9l.

Eco.—I1 5 P.T.O.



11.

12.

13.

14.

The negative relationship between rate of interest and demand for money
is explained by :

(A) Tobin (B) Baumol
(C) Samuelson (D) Marx
1% £ A AUl Hiol gL U Asiy :

Aa) eiollv (B) oilid
(C) Ayau- D) A

Gl AHAAHL el B,

The money multiplier depends on :

(A) Reserve Ratio (B) Currency Deposit Ratio

(C) Excess Reserves to Deposit Ratio (D) All of these

AL s

(A) 2R8I YRR (B) USS © UM iR

(© QA5 2ULER UYL ARUAR D) 21 WSl dxm

Guz 2walRd .

The trade-off between rate of inflation and unemployment is shown by :

(A) Laffer curve (B) Phillips curve
(C) Kinked demand curve (D) None of these
souall e A AUl @Al otisis ¢

(A) dIsR 95 (B) sldlwt as

(C) $l-5s AL as D) 2unidl sid AR

glt salaquii 2ud 6. |

The Liquidity trap is a situation in which :

(A) The public is prepared to hold any amount of money at a given interest
rate

(B) The public is prepared to hold any amount of deposits with commercial
banks at a given interest rate

(C) The supply of money is constant

D) The amount of money held by the public remains constant with a change
in the rate of interest

dra 2a d A5 Al WRRala o i -

(A) AL Ay £3 wtdl AR deel ¢t AUSS WU UMAL dUR SlU B

(B) VAL A% €3 Aricdl AU ol-siul AR dedl ¢t wYRL WAL dUIR
sy ©

(C©) il yrasl Ruz eliu 8

M)  AUY €Ul 31 Udl 9di Frdl WA Ul Tss 25 U e ©

Eco.—I1 6
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15. The Transactions motive for holding money represents  money :
(A) held as inactive balances
(B) held for taking advantage of market movements
(C)  held for future requirements and unforeseen contingencies
(D) in active circulation
Al Auefl sl il A :
A) il [ABsy Ras «03 |
B) oAl Aanidl diet Gslaal w2 ANAL L
©  elanyll w3Rutd 2 vgde wusBisdl W2 ARGl -l
D) Auid uEy WReug
gald &,
16. Which of the following is a measure of economic development ?
(A) increase in national income
(B) increase in per capita income
(C) increase in human development
(D) All of the above
Al syl 2ulls Qs wues 97
@) Al 2wasui qull (B) AEls 2asui quiil
(© *dly Qs assl @) 1 Ugl aun
17.  Prof. J. A. Schumpeter’s name is associated with :
(A) Stages of economic growth
(B) Big Push theory
(C) Role of innovator in economic development
(D)  Unlimited supply of labour and economic development
AR . A grflex o - :
A)  uls Qs dessipi
(B) el ussl (Big Push)
© s Qunadl danadsl oyfis
M) - denfid Yradl w®a 2uls Qs
AW Asvudg 9.
Eco.—II 7
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18. Technological Dualism is a situation of simultaneous existence of two sectors :
(A) With one sector having fixed input coefficients and other having flexible
input coefficients
(B) Both of them having divergent but flexible input coefficients
(C) Both of the them having rigid input coefficients
(D) None of the above
sl gdael wWRRARMD Al & Rewdtld 25 w0l 2R & 5 Fui -
(A) s [QeUdHl AN 2dLd RSt A ol AN i RISt ©
®) ol [Qewdtd [R5l uig A0 2ud Qs 9
(©) o [Qeudtd oS dld RSt 9
O 2wl Asup
19. Human Poverty Index is measured in terms of :
(A) Deprivation of life
(B) Basic education
(C) Access to health service and safe water
(D) All of the above
wiAdly Aol wis :
(A) AUl vl
B) wud (e
(C) 22Uy Al dtA g well-l Guasad
D) GuRAL dHA
gLl WY O,
20. The labour intensive technique generates :
(A) More output and consumption in the short run
(B) More output and consumption in the long run
(C) Investible funds
(D) None of the above
Ay glave dsls -
(A) 25t dunuMi a8 Gewlest A Guetiald
(B) diotl duouni ag Geuled 2R Gueiiold,
(© RisteL 4 w3 Adi eising
) uxidl siS AR
(alal 53 .
Eco.—II 8




21. The knife-edge balance in the Harrod-Domar model is depicted by :

A) Gn=Gw =G B) G > Gn > Gw
) G<Gn<Gw D Gn>Gw>G
$38-1HR Hisaui 930l @ A (knife-edge) UHdA :
(A) Gn=Gw=G j B) G > Gn > Gw
©) G<Gn<Gw D) Gn>Gw>G

gl uelsld ay .

22. Many workers have lost their jobs due to installation of computers which they

do not know how to operate. This has caused :
(A) Frictional unemployment (B) Voluntary unemployment
(C) Cyclical unemployment (D) Structural unemployment

syl Ul Fu-iHl sivye yalaaldl s2wasd el Aal qai eai

s{alutiAl sl 9l A sdl. 2 Rala :

Aa) adeysd B) W9
©) alku D) HAUNd

aieoul WRRalad Fula sy .
23. Merit goods possess characteristics of :
(A) Only private goods (B) Only public goods
(C) Both private and public goods (D) None of these
A43e drgil :
A) §54 R axgall (B) ss5d AWdHS Al
€©) [ ud wdulAs axdaii ot D) 2unidl Asve R
dl dael 4Uud ©.

24. Principle of Maximum Social Advantage is given by :

(A) Dalton (B) Musgrave
(C) Mishon (D) Bucannan
HedH AMlrs stueidl My
(A)  Slee (B) u3d
€y  H{lu+ (D) o5t
WAL,

Eco.—I1 9
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25.

26.

27.

28.

Reduction of Fiscal Deficit in India was achieved primarily through :
(A) Reduction in food subsidies

(B) Increasing marginal rates of income tax

(C) More efficient use of financial resources

(D) Reductions in capital expenditure on infrastructure

QUAHL USIMY vitul gast yuud

(A)  viEAeUAL gaIsl

B) 2uasdu-Al dlHid el aad

(O ~ustifly el qa1l AALS GuioL

@) uenld Al Y8l vwlai waist

gl Ukl s 2L el

Fiscal policy influences growth of a country like India through increasing
efficiency in :

(A) Mobilisation of resources (B) Allocation of resources
(C) Utilization of resources (D) Al of these

eiRd Al gudi AFsMIA U 2u-l 2ubls qlzA :

A) sl omiae-l B) wa-iil adyelil

(C) wari Guuia-{l M) i ud-l

[yBtdini qiL gll 2A 52 8.

Total revenue from a given commodity tax increases with higher rates of tax
when : ,

(A) the demand for the commodity is inelastic

(B) the demand for the commodity is elastic

(C) the commodity is unitary elastic in demand

(D) the supply for the commodity is elastic

AL gl s+l g a5 AL e a1l Wl Ul % ad 8
BULR

Q)  agl uia ey sl B) gl Hidn Yeuula iy

(© -l ol qas s ¢y D) Ryl yasl Heu W ¢y
According to R.A. Musgrave, objectives of fiscal policy are :

(A) Allocation of resources (B) Distribution of resources
(C) Stabilization (D) All of these

R, B, HAAAAL Hd ool AXsDU Q- Ay

A)  wa-i-l adagll B) wadil siasl

© Radl @) U U4 aun

£9.

Eco.—II 10




29.

30.

31.

“Burden of Public Debt falls not on future generation but on present
generation.” This statement is given by :

(A) Meade (B) A. P. Lerner

(C) Bucannan (D) Musgrave

“defs sartl e e A R AR yIg wiadl WLy s 8.7 2w
Qe -

@) s 2 B) Al ad %
(C) Guil A D) HAu3Aa
ALY 9.

Trade creation with the formation of the customs union refers to :

(A) The movement from the high cost production to low cost production
(B) The movement from the low cost production to high cost production
(C) The movement from high saving to low saving

(D) The movement from low investment to high investment

ogsiael-{l UAL A ALY, XA ANed

@A)  Gu Gewted vl dsdl flal Gewert v ds-ll ala

@)  la Gewert WA dsl Gut Gowted WA dsl alq

©) Gl olud dasdl lAl oud dsdl ala

M) -l yelise dasdl Gu yglise drsdl ala

The imposition of a tariff :

(A) adversely affects consumer’s surplus and producer surplus

(B) positively affects consumer surplus and producer surplus

(C) adversely affects consumer surplus and positively affects producer surplus
(D) positively affects consumer surplus and adversely affects producer surplus
gl AU :

(a)  Guotisdtdl sira Aorag A Gewtesdl st Alwarg GU AstAHS
B) Guolisdidl siwa Alowag wA Geautesl sira Alwarg GU eSS
(©  Guotisdt-ll sire Alorarg GUR AsAUMS A Getes-l s1we Aorarg GUR

S5LAUMS
O Guelisdtdl s1rd Ylwarg GU estAAs A Gewes-l siva Ywarg GUr
SRS
VAR 53 9.

Eco.—I1 11 P.T.O.



32.

33.

34.

35.

Example of Cartel Agreement can be given by :

(A) OPEC (B) GATT

(C) WTO »O) IMF

s13e $UAAL Gelsw 31 :

a) s j (B) o°ue

(C) soiey A i D) U dAH s

2l usy.

The removal of country’s international trade barriers would mean :

(A) Liberalization (B) Privatisation

(C) Globalisation (D) All of these

AU 2w w-l [Qedl g2 sl x1d -

A) Gedlsa B) +dlwswl

©€) alasa @) U U8l dun

Y o9,

The gross barter terms of trade is defined as :

&) Import Quant?ty Index x100 (B) Export Quant?ty Index « 100
Export Quantity Index Import Quantity Index
Export Price Index Import Price Index

100 100

© Import Price Index 8 D) Export Price Index 8

AsA g [ARHY ol wdi-l vy -

LAl wRUAL 21l sl el wiis

(A) : - X100 () , ——— X 100
(AsidAl el 21 dUULAAL FYLAL LS
s BHddl 2tis Uld BHdAl 2is

© N X 100 (D) ——— X 100
2L [FudAl 2tis (st GBaddl wlis

gL 2N 69,

The empirical verification of the theory of comparative cost advantage was
first attempted by :

(A)  G.D.A. MacDougal (B) Bela Balassa

(C)  Haberler (D) J. S. Mill

gaticts v aleti Rigiddl uuoas aswel i way ar
(A) .Sl Hsgalawl (B) oldl sl

(C)  eolray (D) .. Hlan

531 edl.

Feo.—11 12




36. Metzler paradox invalidates :

(A) Stolper-Samuelson theorem (B) Heckscher-Ohlin theorem
(C) Rybczynski theorem (D) Harrod-Domar theorem
Al Qaeuy -

(A) WdUR — AEAd UHY B) &s5u — iledld uHY
©) Rofl=dl — udy D) €3S ~ SIH Y

4 wuHUBLa 52 8.
37. 'The Reserve Bank of India by its 1999 Monetary Policy :

(A) increased CRR to 11 per cent (B) reduced CRR to 10 per cent
(C) Did not change CRR (D) None of these
e wi Aovd o s Shsut A d-l aas i ¢
(A) CRR A awl 11% sul (B) CRR uaisld 10% syl
(C) CRR i siSu@ 33812 sul <l (D) el Asux 8
38. Gross domestic investment in India in late 1990’s was around :
(A) 19 per cent (B) 22 per cent
(C) 15 per cent (D) 25 per cent
O L slustl Wil adlMi Asa 43¢ YSl ASLLL €AY
(A) 19 esi (B) 22 esl
(C) 15 esl D) 25 est
sd.
39. Prof. Sukhomoy Chakravarty evolved a model for the Fifth Five Year Plan
that :
(A) was based on Harrod-Domar type of models
(B) integrated models of Harrod-Domar type and the Leontief Input-Output
system,
(C) was based on Mahalanobis model
D) was based on Linear Programming System

Wl gl asadi il daadly dio- we »uly HWisd :

A)
(B)

©)
®)
Eco.—II

S-SR Fal Hisd Gur walRd 8q

&28-51M2 2 lalidlst it Fdladl yaldutig aulad s wr
wiRd g

yela-dlB Hidd GuR 2ualid ed

yivw 2uuly ygld Gu wwalRd ¢
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40.

41.

42.

43.

Securitisation and Reconstruction of Financial Assets and Enforcement of
Security Interest Act 2002 :

(A) Facilitates the recovery of non-performing assets of banks

(B) Provides guarantee of recovery for advances of banks

(C) Provides guarantee to borrower for lending from banks

(D) Facilitates RBI in framing their monetary and credit policy
AsyAaSHat 21 w5t 3iis sLSUAua AA2 A A2 viig Alsuiel
a2 W52 2002 :

Aa)  Gsdl 51IAWRA 2sAMAIA] ayeldl AW oAl 8

B) s Rl ayatd-dl visll 20l ®

© o @A olsiidl Rl vell 20l 8

M) RBI A a-{l aa2 24 woidllad asadi qee3yw wy ©

The terms of trade of agricultural commodities in India in the last decade:

(A) has improved (B) has deteriorated

(C) has remaind constant (D) has experienced large fluctuations
Beat elustHi etdul §B8 axgatiql euwl wdi ¢

(A)  YUIRL qdl B B) wadld ad 8 A
© Rax Wl Y D) Hi2l Wyl G YSGd dHdl ©

The Kisan Credit Card Scheme was introduced in 1998-99 to facilitate :
(A) access to short-term credit by farmers

(B) access to long-term credit by farmers

(C) access to credit by marginal farmers

(D) all of the above

Baut 3812 518+l diw-il 1998-99 Ui :

(A) usdin Esuoudl (B) uisdin dicwduoudl

(C) Uid vsci ww D) GU UL &Ly

Hoqdl Hi2 Hee3W sAl stvid sl 2udl.

The share of service sector in GDP in India in 2001 was :

(A) 49% ®) 30%

(C) 25% @) 20%

AL SN 83 GeuledHi Al S0 AL 2001 Hi :
(A)  49% (B) 30%

©) 25% D) 20%

sd.

Eco.—lII 14
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44, If sum of the product of deviations of X and Y series from thier means i.e.
Yxy is zero, the coefficient of correlation shall be :
A) +1 B) -1
C O i (D) None of these
A X A Y Aeflatini duti-l wes Budell Radd-r il dual Aed
3 ey YU ld dl ueRioiy ais ¢
Ay +1 B -1
() o D) uxidl Asua
8.
45. In Binomial Distribution mean is equal to 10 and standard deviation is equal
to 2, g will be :
@ o ®) 1
(C) 0.2 ®) 04
Budl el Hs 10 2 Wl [Qadd 2 © dl g -
@A o ®B) 1
(C) 02 D) 04
8. :
46. Fisher’s ideal index is :
(A) Arithmetic mean of Laspeyre’s and Paasche’s index
(B) Median of Laspeyre and Paasche index
(C) Geometric mean of Laspeyre and Paasche index
(D) None of the above
glal 2ued YAsis :
(A)  dRUY A WAL YASAHISIAL AHIA HHS O
(B)  ARUI A WAL YASHISIHL 1R O
(©)  arU A WAL YASHIsL YRl HUs ©
D) Gunidl visva e
47. To test the significance of coefficient of correlation, one has to use :
(A) Al-test (B) t-test
(C)  z-test D) F-test
Aeioiy sl welsar udlae e -
(A) Altest (B) t-test
(C) z-test (D) F-test
AL Guuidt sal AL, '
Eco—I1 15 P.T.0.



48.

49.

50.

Suppose that we know the height of a student but do not know her weight.
We use an estimated equation to determine an estimate of her weight based
on her height. We can therefore summarise that :

(A) Weight is an independent variable

(B) Height is a dependent varnable

(C) Relationship between height and weight is inverse

(D) None of the above

a1l 3 20yl wA Qendll GuSHl sulRdl ©. g dd ax- el -, 204
ar, ae-t aaaan we Al Gud-l ulRdl Gurell vieiwd wsA-Al Guaiol s3A
¢lat, el d-l wRin 2w 3 o

(A) A% Ao AadvyL S

B) G »walRd AcAval ©

(C) Azt v GUS a2l Aoiy wa &

O il A5y R

Assume that A? test is to be performed on a contingency table with four rows
and four columns. How many degrees of freedom should be used ?

A 16 B) 8

G 9 D) 6

AwA 3 WR Sl 522 A Gofl saR s-dl=l 261 GU A2 test sl B,
dl il dedl Radadi-ll Mstl qauynd?

A) 16 ®B) 8

<G 9 D) 6

With the lower level of significance, the probability of rejecting a null hypothesis
that is actually true :

(A) decreases (B) increases

(C) remain uncharged (D) All of these

Al R Gudl sl 0, w=ll g yRed Asizadl doua- ¢
A w428 ' B) a8 &

(C) 15 381 udi Al D) AUHIAL QL%

Eco.—I1 16
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